

Jiří Jarník

On convolution of k continuous functions

Časopis pro pěstování matematiky, Vol. 98 (1973), No. 2, 199--205

Persistent URL: <http://dml.cz/dmlcz/108472>

Terms of use:

© Institute of Mathematics AS CR, 1973

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

ON CONVOLUTION OF k CONTINUOUS FUNCTIONS

Jiří JARNÍK, Praha

(Received August 4, 1971)

It was shown in [1] that there exist functions $x(t)$, $y(t)$ continuous in an interval I such that the convolution $x * y = \int_0^t x(\tau) y(t - \tau) d\tau$ does not possess the derivative at any interior point $t \in I$. The aim of the present note is to generalize this result to the case of k functions, $k \geq 2$.

First we shall introduce two lemmas. Lemma 1 is obtained from Lemma 1 [1] in an easy way by mathematical induction. Lemma 2 is in a sense analogous to Lemma 2 [1], although a differentiable oscillating function is used instead of a piecewise linear one. Again mathematical induction is used to prove the assertion for any integer $k \geq 2$. In both cases the proofs are elementary and therefore they are omitted.

Lemma 1. Let $I = \langle 0, t_0 \rangle$, $t_0 > 0$ or $I = \langle 0, +\infty \rangle$. Let $k \geq 2$ be an integer, $x_1, x_2, \dots, x_k \in C(I)$ (i.e. continuous functions on I),

$$|x_i(t)| \leq L_i, \quad |x_i(t+h) - x_i(t)| \leq K_i h$$

for all $t, t+h \in I$, $h > 0$. Denote $x * y = (x * y)(t) = \int_0^t x(\tau) y(t - \tau) d\tau$ for any $x, y \in C(I)$, $t \in I$. Then

$$|z_k(t)| = |(x_1 * x_2 * \dots * x_k)(t)| \leq L_1 L_2 \dots L_k \frac{t^{k-1}}{(k-1)!},$$

$$|z_k(t+h) - z_k(t)| \leq L_1 L_2 \dots L_{k-1} \left[L_k \frac{(t+h)^{k-2}}{(k-2)!} + K_k \frac{t^{k-1}}{(k-1)!} \right] h$$

for all $t, t+h \in I$, $h > 0$.

Lemma 2. Let $x(t) = x_{ab}(t) = \frac{1}{2}b \cos 2\pi at$. Then for any integer $k \geq 2$ and all t

$$x * x * \dots * x \underset{k \text{ times}}{=} \frac{b^k t^{k-1}}{2^{2k-1} (k-1)!} \cos 2\pi at + \frac{b^k}{a} f_k(t, a)$$

where $|f_k(t, a)| \leq c_k(t)$, i.e. f_k is bounded for each k, t as a function of a .

The main result of the present note is

Theorem 1. *For any integer $k \geq 2$ there exists a function $x(t) = x(t, k) \in C(\langle 0, +\infty \rangle)$ such that the convolution $x * x * \dots * x$ (k times) does not possess the derivative for any $t > 0$.*

Proof. Let the integer $k \geq 2$ be fixed. Put

$$x_n(t) = \frac{1}{2} b_n \cos 2\pi a_n t, \quad b_n = 2^{-(k+1)^n}, \quad a_n = b_n^{-(k+1)}$$

for all positive integers n ,

$$(1) \quad x(t) = \sum_{n=1}^{\infty} x_n(t).$$

Since $|x(t)| \leq \frac{1}{2} \sum_{n=1}^{\infty} 2^{-(k+1)^n}$, the series (1) converges absolutely and uniformly on $\langle 0, +\infty \rangle$. Hence

$$x * x * \dots * x = \sum_{\substack{p_i=1 \\ i=1, \dots, k}}^{\infty} x_{p_1} * x_{p_2} * \dots * x_{p_k}.$$

The following inequalities are obvious:

$$(2) \quad |x_n(t)| \leq \frac{1}{2} b_n, \quad |x_n(t+h) - x_n(t)| \leq \pi a_n b_n h$$

for all $t \geq 0$, $h > 0$.

For fixed t let us choose integers $p_n, q_n, r_n, s_n, v_n, w_n$ analogously to [1], i.e.

$$p_n \text{ even, } \frac{1}{2} p_n \leq t a_n < \frac{1}{2} p_n + 1,$$

$$q_n \text{ odd, } \frac{1}{2} q_n \leq t a_n < \frac{1}{2} q_n + 1,$$

$$r_n = \frac{p_n}{2a_n} \rightarrow t, \quad s_n = \frac{p_n + 3}{2a_n} \rightarrow t, \quad v_n = \frac{q_n}{2a_n} \rightarrow t, \quad w_n = \frac{q_n + 3}{2a_n} \rightarrow t,$$

so that

$$(3) \quad s_n - r_n = w_n - v_n = \frac{3}{2a_n}.$$

Denoting $z = x * x * \dots * x$, $z_{p_1, p_2, \dots, p_k} = x_{p_1} * x_{p_2} * \dots * x_{p_k}$ let us estimate the difference

$$(4) \quad \left| \frac{z(s_n) - z(r_n)}{s_n - r_n} - \frac{z_{n, \dots, n}(s_n) - z_{n, \dots, n}(r_n)}{s_n - r_n} \right| = \left| \sum \frac{z_{p_1, \dots, p_k}(s_n) - z_{p_1, \dots, p_k}(r_n)}{s_n - r_n} \right|$$

where the sum is taken over all k -tuples of positive integers except $n, n, \dots, n$. To this purpose, let us estimate the expression

$$\Delta = \Delta_{p_1, \dots, p_k} = \left| \frac{z_{p_1, \dots, p_k}(s_n) - z_{p_1, \dots, p_k}(r_n)}{s_n - r_n} \right|.$$

(a) Let $p_k < n$. Then according to Lemma 1 and (2)

$$\begin{aligned} \Delta &\leq \frac{1}{2^{k-1}} b_{p_1} b_{p_2} \dots b_{p_{k-1}} \left(\frac{1}{2} b_{p_k} \frac{s_n^{k-2}}{(k-2)!} + \pi a_{p_k} b_{p_k} \frac{r_n^{k-1}}{(k-1)!} \right) \leq \\ &\leq \frac{1}{2^{k-1}(k-2)!} b_{p_1} b_{p_2} \dots b_{p_k} \left(\frac{1}{2} + \pi a_{p_k} \frac{t}{k-1} \right) (t+1)^{k-2}. \end{aligned}$$

(b) Let $p_k > n$. Then again according to Lemma 1 and (2), (3)

$$\Delta \leq \frac{1}{2^k} b_{p_1} b_{p_2} \dots b_{p_k} \frac{r_n^{k-1} + s_n^{k-1}}{(k-1)!} \cdot \frac{2a_n}{3} \leq \frac{1}{3(k-1)!} b_{p_1} b_{p_2} \dots b_{p_k} a_n (t+1)^{k-1}.$$

The following inequalities are needed in the sequel:

$$(5) \quad \sum_{j=N}^{\infty} b_j \leq 2b_N,$$

$$(6) \quad \sum_{j=1}^N a_j b_j \leq 2b_{N+1}^{-k/(k+1)}$$

for any positive integer N .

In fact, it holds $b_{j+1} = b_j^{k+1}$; hence $b_{j+1}/b_j = b_j^k \leq b_j \leq 2^{-j}$ and consequently

$$\begin{aligned} \sum_{j=N}^{\infty} b_j &\leq b_N + \sum_{j=N+1}^{\infty} b_j \left(\frac{b_N}{b_{j-1}} \right) = b_N \left(1 + \sum_{j=N+1}^{\infty} \frac{b_j}{b_{j-1}} \right) \leq 2b_N, \\ \sum_{j=1}^N a_j b_j &= \sum_{j=1}^N b_j^{-k} \leq b_N^{-k} + \sum_{j=1}^{N-1} b_j^{-k} \left(\frac{b_{j+1}}{b_N} \right)^k = b_N^{-k} \left(1 + \sum_{j=1}^{N-1} \left(\frac{b_{j+1}}{b_j} \right)^k \right) \leq \\ &\leq 2b_N^{-k} = 2b_{N+1}^{-k/(k+1)} \end{aligned}$$

which proves inequalities (5), (6).

Now let us estimate the sum of all $\Delta = \Delta_{p_1, \dots, p_k}$ such that $p_k \neq n$: According to (a), (b) and (5), (6) it holds

$$\sum_{p_k \neq n} \Delta_{p_1, p_2, \dots, p_k} = \sum_{p_1, \dots, p_{k-1}=1}^{\infty} \left(\sum_{p_k=1}^{n-1} \Delta + \sum_{p_k=n+1}^{\infty} \Delta \right) \leq$$

$$\begin{aligned}
&\leq \sum_{p_1, \dots, p_{k-1}=1}^{\infty} b_{p_1} b_{p_2} \dots b_{p_{k-1}} \left\{ \frac{(t+1)^{k-2}}{2^k(k-2)!} \left[\sum_{p_k=1}^{n-1} b_{p_k} + \frac{\pi t}{k-1} \sum_{p_k=1}^{n-1} a_{p_k} b_{p_k} \right] + \right. \\
&\quad \left. + \frac{a_n(t+1)}{3(k-1)!} \sum_{p_k=n+1}^{\infty} b_{p_k} \right\} \leq \\
&\leq \sum_{p_1, \dots, p_{k-1}}^{\infty} b_{p_1} b_{p_2} \dots b_{p_{k-1}} \{A_k(t) + B_k(t) b_n^{-k/(k+1)} + C_k(t)\}
\end{aligned}$$

where A_k, B_k, C_k are some functions of t . (The equality $a_n = b_n^{-(k+1)} = b_{n+1}$ is used for the evaluation of the last term.) Finally, the inequality $\sum_{j=1}^{\infty} b_j \leq 2$ (which is a special case of (5)) yields

$$\sum_{p_k \neq n} \Delta \leq 2^{k-1} (A_k^*(t) + B_k(t) b_n^{-k/(k+1)}).$$

Evidently, the same estimate is obtained for the sums $\sum_{p_j \neq n} \Delta$ where we assume successively $j = 1, 2, \dots, k-1$. Summarizing all these estimates, we obtain obviously an estimate for the expression (4):

$$\begin{aligned}
&\left| \frac{z(s_n) - z(r_n)}{s_n - r_n} - \frac{z_{n, \dots, n}(s_n) - z_{n, \dots, n}(r_n)}{s_n - r_n} \right| \leq \\
&\leq k \cdot 2^{k-1} (A_k^*(t) + B_k(t) b_n^{-k/(k+1)}).
\end{aligned}$$

On the other hand, Lemma 2 together with (3) yields

$$\begin{aligned}
&\left| \frac{z_{n, \dots, n}(s_n) - z_{n, \dots, n}(r_n)}{s_n - r_n} \right| = \left[\frac{2b_n^k t^{k-1}}{2^{2k-1}(k-1)!} + \frac{b_n^k}{a_n} g_k(t, a_n) \right] \frac{2a_n}{3} = \\
&= D_k(t) b_n^k a_n + \frac{2}{3} g_k(t, a_n) b_n^k = D_k(t) b_n^{-1} + \frac{2}{3} g_k(t, a_n) b_n^k,
\end{aligned}$$

where $|g_k(t, a_n)| \leq E_k(t)$ and the functions D_k, E_k are independent of n . Comparing the two last relations, we obtain immediately

$$\lim_{n \rightarrow \infty} \frac{z(s_n) - z(r_n)}{s_n - r_n} = +\infty.$$

Quite analogously it may be shown that

$$\lim_{n \rightarrow \infty} \frac{z(w_n) - z(v_n)}{w_n - v_n} = -\infty$$

and the assertion of the theorem follows immediately (cf. Lemma 3 [1]).

In an analogous way as in [1] it is possible to prove

Theorem 2. *There is a set $M \subset C^k = C \times C \times \dots \times C$ (k times), $C = C(I)$ such that*

- (a) $C^k - M$ is of the 1st category in C^k ,
- (b) if $x = (x_1, x_2, \dots, x_k) \in M$, then the convolution $x_1 * x_2 * \dots * x_k$ does not possess the derivative at any interior point $t \in I$.

However, we prefer to introduce the proof of a similar theorem which is perhaps more interesting since it deals (for any integer $k \geq 2$) with the space C and not C^k . For the sake of brevity let us suppose $I = \langle 0, 1 \rangle$.

Theorem 3. *Let V be a set of all functions $x(t) \in C = C(\langle 0, 1 \rangle)$ such that the convolution $z = x * x * \dots * x$ (k times) does not possess the derivative at any t , $0 < t < 1$. Then the complement $W = C - V$ is a set of the 1st category in C (with the usual uniform metric).*

Proof. For any positive integer n let G_n^+ , G_n^- be the sets of functions from C with the following property:

To any $t \in I_n = \langle 1/n, 1 - 1/n \rangle$ there are number r, s , $r < s$ such that

$$(7) \quad t - \frac{1}{n} \leq r \leq t \leq s \leq t + \frac{1}{n},$$

$$(8) \quad \frac{z(s) - z(r)}{s - r} > n \quad (< -n \text{ respectively}).$$

Put $M_1 = \bigcap_{n=1}^{\infty} G_n^+$, $M_2 = \bigcap_{n=1}^{\infty} G_n^-$, $M = M_1 \cap M_2$. Obviously $M \subset V$ and hence $W \subset C - M$. We shall show (for any positive integer n):

(i) G_n^+ as well as G_n^- are open sets, i.e. $F_n^+ = C - G_n^+$, $F_n^- = C - G_n^-$ are closed sets;

(ii) G_n^+ as well as G_n^- are dense sets in C .

This will prove Theorem 3 since then $W \subset C - M = \bigcup_{n=1}^{\infty} (F_n^+ \cup F_n^-)$ where F_n^+ , F_n^- are nowhere dense in C .

(i) Let $x_v(t) \in F_n^+$ for all positive integers v , $\lim_{v \rightarrow \infty} x_v(t) = x(t)$ in C , i.e. uniformly. Then Lemma 4 [1] implies $\lim_{v \rightarrow \infty} z_v(t) = z(t)$, $z_v = x_v * x_v * \dots * x_v$ (by mathematical induction). As $x \notin G_n^+$, there is $t_v \in I_n$ such that for all $r_v < s_v$ satisfying

$$(9) \quad t_v - \frac{1}{n} \leq r_v \leq t_v \leq s_v \leq t_v + \frac{1}{n}$$

it holds

$$(10) \quad \frac{z_v(s_v) - z_v(r_v)}{s_v - r_v} \leq n.$$

We can choose a convergent subsequence from the sequence t_v ; let us assume at once $\lim_{v \rightarrow \infty} t_v = t \in I_n$. For any $r < s$ satisfying (7) let us define $r_v = r + t_v - t$, $s_v = s + t_v - t$ so that $r_v \rightarrow r$, $s_v \rightarrow s$ and (10) holds. Hence also

$$\frac{z(s) - z(r)}{s - r} = \lim_{v \rightarrow \infty} \frac{z_v(s_v) - z_v(r_v)}{s_v - r_v} \leq n$$

which proves (i).

(ii) Let $y \in C$, $\varepsilon > 0$, n a positive integer. We shall show that there exists $x \in G_n^+$, $\varrho(x, y) < \varepsilon$, ϱ being the uniform metric in C . The function y can be approximated by a continuous piecewise linear function η so that $\varrho(y, \eta) < \frac{1}{2}\varepsilon$. There is a constant A such that

$$(11) \quad |\eta(t)| \leq A, \quad |\eta(t_1) - \eta(t_2)| \leq A|t_1 - t_2|$$

for $0 < t_i < 1$, $i = 1, 2$.

Put $x = \eta + x_{ae}$, $x_{ae}(t) = \frac{1}{2}\varepsilon \cos 2\pi at$ (cf. Lemma 2). Evidently $\varrho(x, y) \leq \varrho(x, \eta) + \varrho(\eta, y) < \varepsilon$. Hence it is sufficient to prove $x \in G_n^+$.

It holds

$$(12) \quad \begin{aligned} z &= x * x * \dots * x = x_{ae} * x_{ae} * \dots * x_{ae} + \\ &+ \sum_{j=1}^k \binom{k}{j} \eta * \dots * \eta \underset{j \text{ times}}{} * x_{ae} * \dots * x_{ae} \underset{(k-j) \text{ times}}{} \end{aligned}$$

Let $t \in I_n$. Put $r = (2m + 1)/2a$, $s = (2m + 6)/2a$ where m is an integer, $2m + 1 \leq 2at \leq 2m + 3$. Then obviously $\max(s - t, t - r) \leq s - r = \frac{5}{2}a$; hence (7) holds for a large enough. Our aim is to estimate the expression $(z(s) - z(r))/(s - r)$; let us first consider the analogous expression for any term of the sum on the right hand side of (12). Denoting

$$z_j = \eta * \dots * \eta \underset{j \text{ times}}{} * x_{ae} * x_{ae} * \dots * x_{ae} \underset{(k-j) \text{ times}}{}.$$

it holds according to Lemma 1 and (11)

$$\left| \frac{z_j(s) - z_j(r)}{s - r} \right| \leq \left(\frac{\varepsilon}{2} \right)^{k-j} A^j \left(\frac{s^{k-2}}{(k-2)!} + \frac{r^{k-1}}{(k-1)!} \right).$$

The right hand side of the inequality is bounded independently of a (since (7) holds

for r, s). On the other hand, the first term on the right hand side of the identity (12), i.e. $z_0(t) = x_{ae} * x_{ae} * \dots * x_{ae}$ (k times) fulfils (again according to Lemma 1)

$$\frac{z_0(s) - z_0(r)}{s - r} = \frac{2\varepsilon^k t^{k-1}}{2^{2k-1}(k-1)!} \cdot \frac{2a}{5} + \varepsilon^k g_k(t, a)$$

where $g_k(t, a)$ is bounded as a function of a for any k, t . It is evident that if a is chosen sufficiently large then (8) holds and hence $x \in G_n^+$. The proof of (ii) for the sets G_n^- being quite analogous, we may consider the proof of Theorem 3 complete.

Remark. Let $\xi \in V$ (see Theorem 3). Take the set $V(\xi)$ of all functions from C with the following property: If $x_i \in V(\xi)$, $i = 1, 2, \dots, k$, then the convolution $x_1 * x_2 * \dots * x_k$ does not possess the derivative at any point $0 < t < 1$. It would be interesting to obtain some information on the structure of the sets $V(\xi)$ and their mutual relations. (If $\mathcal{V} = \bigcup_{\xi \in V} V(\xi)$, then evidently $V \subset \mathcal{V}$ and hence the complement of $\mathcal{V}$ in C is of the 1st category.)

References

- [1] Jarník, V.: Sur le produit de composition de deux fonctions continues. *Studia Math.* 12 (1951), pp. 58—64.

Author's address: 115 67 Praha 1, Žitná 25 (Matematický ústav ČSAV v Praze).